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QUESTION 1

You are running a cluster using multiple BM.Standard2.52 machines. The model is on a NFS share running on block
volume- You\\'ve tried doubling the number of machines but It\\'s not running any faster. 

Which two actions could potentially speed up this tightly coupled workload? 

A. Switch to FSS for your file system. 

B. Use Cluster Networking. 

C. Use BM.HPC2.36. 

D. Switch to ESS mode. 

Correct Answer: D 

 

QUESTION 2

You are building a file system that needs to handle large files with a lot of nodes reading at the same time. What should
be your main goal? 

A. Maximize Latency while keeping throughput above a certain threshold. 

B. Maximize throughput. 

C. Minimize latency. 

D. Minimize throughput while keeping the latency low. 

Correct Answer: B 

 

QUESTION 3

Which benchmark is important to a customer when considering 0lg Data workloads on Oracle Cloud Infrastructure
(OCI)? 

A. TPC-DS 

B. TPC-DI 

C. TPC-C 

D. Terasort 

Correct Answer: B 

 

QUESTION 4
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On Oracle Cloud Infrastructure (OCI), a customer wants to build a 3TB fllesystem for high throughput-oriented
workloads. 

Which action provides the highest IO throughput using OCI block volumes for storage? 

A. Attach one Block volume of 3TB volume size and use fllesystem Block size of 256K or lower. 

B. Attach one Block volume of 3TB volume size and use fllesystem Block size of 1M or higher. 

C. Attach three Block volumes of 1TB each and use fllesystem Block size of 256K or lower. 

D. Attach three Block volumes of 1TB each and use filesystem Block size of 1M or higher. 

Correct Answer: A 

 

QUESTION 5

Which statement Is correct about deleting an Instance Pool? 

A. Nothing will be deleted. 

B. Instances and boot volumes will be deleted. 

C. Associated Instances and attached boot volumes will be deleted; block volumes will be detached. 

D. Instances and block volumes will be deleted. 

E. Only the Instances will be deleted. 

Correct Answer: C 
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